0
s

bar{A\}/K

Ratio to LHCB

7000 GeV pp ISoft QCD

Rivet 3.1.0, = 100k events

- A/KOS vs |y|(0.65 < p_< 1.00 GeV) 2
B m LHCB i
~  --{3-- Herwig 7.2.0 default _
— —&— Pythia 8.235 default ]
I ¢ Sherpa 2.2.8 default |
- i n . n -
— . E—
: E] _____________ {El ____________ E _____________ -E] :
—_ T RITRALRIELLE T e L ¢ __
N | | | | | I | | | | L,
:l T T T T | T T T T | T T :
N = PR PR EJ .
] . //\m _
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | "
2 3 4

Rapidity (y)

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


